
I.D.:	75945578

PIESE	SCHIMB	UTILAJE,	MATERIALE

Data
publicarii

28.11.22 Coduri	CPV 34913000-0

Pretul
estimativ:

2.838,65	RON	-	2.838,65	RON 	 	

Descriere: su	brazdar	m14x40	25x2.9412,	piul	m14	25x0.42,	filtru	hisr.	sh63206	1x268.91,	apa	demi	10l
1x13.45,	antigel	conc	.g12	10l	1x100.84,	sol	spalat	parbriz	iarna	5l	1x21.85,	camera
10.8//12	2x48.74,	rulm	6304	tk	1x16.81,	rulm	6304	skf	2x19.33,	rulm	6205	skf	11x16.8064,
furtun	dn19	multif	1x33.61,	sub.	m16x110	10.9	30x5.8823,	piul	m16	30x0.8403,	roata	lant
08b1	z=25	1x75.63,	chit	siliconic	caramba	200ml	1x75.63,	rulm	6005	skf	4x15.9675,	sim
20x35x7	4x6.725,	roata	disc	pt	lant	16b1	z=	32	1x315.13,	electrozi	2.5x350	skf	2x126.05,	su
m12x180	10.9	15x5.8827,	piul	m12x	cu	autobl	15x	3.3613,	ulei	hy	g	5l	2x	142.855,	electrozi
3.25	sf	2x155.46,	borne	acum	4x14.285,	colier	50-70	20x2.521,	curea	13x1025	la	optibelt
1x23.53,	colier	8-13	6x1.68,	su	m8x50	10.9	30x0.8403,	su	m10x50	10.9	30x1.6807,	piul	m8
30x0.21,	piul	m10	30x0.2940,


